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CG - CGL24

‘*-"?i:. HSSC CET Group 56 Question Paper 17 August 2024
1. _ is asilicon chip which .. _Uuhk fiferni farm 2 f‘:rrm U
contains entire electronic circuit on a ed # B A m T{"{'ﬁ F%ET&FF Atz
very small area. 2 81
(A) Turing Machine =G E (A) ZIfar wefi
B
(B) Pascaline - E]?f@-‘ (B) TTEhetTE
(C) Integrated Circuit uz)/ﬂﬁ%g gfde
(D) Transistor (D) gTE
(E) Not attempted (E) ERRIIRY
2. Which of the following is the largest 2 frfafiea & @ H-H —Sﬁm = HIH gl
Saltwater lake in the world ? @ gt <t sfe % ?
(A) Chilka (B) Caspian Sea (A) Tereeht B) i HI
(C) Lake Victoria (D) Michigan () ferdifen stw (D) R
(E) Not attempted (E) 3Tyanféa
3. The average resistance force that must 3. afEa Hﬁﬁﬂ?ﬁ El'ﬂ S 5 fem.am. Wgﬁﬁ
act on a 5kg mass to reduce its speed fd 1 0.2 T H 65 ot /= ¥ 15 : /
from 65cm/s to 15cm/s in 0.2s is A 3 T 39 T T S 8
(A) 100N (B) 25N (A) 100N (B) 25N
(C) SON (D) 12.5N (C) 50N (D) 12.5N
(E) Not attempted (E) 5
4. If the seventh day of a month is three 4. e foreh Té o Traal fgT JEhaR i
days earlier than Friday, what day fauga g, @ Ii'éﬁ 3 g feT wH-H1
will it be on the nineteenth day of the frdm e (, g O
month ? - w
LAa] e -
(A) Sunday =
(B) AR
(B) Monday -
BREE (©) 3T
(C) Wednesday E*A@‘
(D) Friday (D) YshaR
(E) Not attempted (E) AT
2.
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5. This protected area contains one of
the last surviving remnants of the
Delhi Ridge hill range
(A) Bhindawas Wildlife Sanctuary
(B) Nahar Wildlife Sanctuary
(C) Asola-Bhatti Wildlife Sanctuary

(D) Abubshahar Wildlife Sanctuary
(E) Not attempted

6. Consider the following statements and
choose the right option given below.

1. Comptroller and Auditor General
of India (CAG) is responsible for
compilation and preparation of
the accounts of the Government
of Haryana.

2. This function is discharged through
the office of the Accountant General
(A & E) Haryana.

(A) Only the statement 1 is correct
(B) Only the statement 2 is correct

(C) Both the statements 1 and 2 are
in-correct

(D) Both the statements 1 and 2 are
correct

(E) Not attempted

7. ‘ In which year was the South Asian
Association for Regional Co-operation
(SAARC) established ?

B E
(A) 1980 Eﬁﬂ
(B) 1990 ElEyE
(C) 1985
(D) 1998

(E) Not attempted

-3-

CG - CGL24

5. 3@ Gifdra & & feght Senn werdt 20f k
&) Fremam a=cfa srvane
(B) T8 SSie AR

6. FrfiRaa st w foem i 3k F feu
T G feehed 1 T |

1. W % Fries T wereran TiE
(CAG) BRETT TTHR o THET b Fehed
3R et % forg feer € |

2. % 1 HERRETHR (A & E) SRE %
Fated % ey § R ST 2 |

(A) FTa FUT 1 T B

(B) 9@ HUT 2 9l 2

(C) 3T YA 1 31 2 TeTd @
(D) Q1 FT 1 3R 2 T &
(E) ITwartéd

7. <ftror ufimng st TEA WS (SAARC)
1 Tmee form a9 g8 ot ¢

(A) 1980 £
(B) 1990
) 1985
(D) 1998
(E) 3Tsamiéd
B
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The earth will be very close to the sun on
(A) 21 June (B) 4" July

(C) 23" September (D) 3 January

(E) Not attempted

Which of the following is another

name of Platelets ?
(A) Thrombocytes
(B) Erythrocytes

(C) Leucocytes

(D) None of the above

e
T
S

(E) Not attempted

If U is the universal set with 100
elements, A and B are two sets such
that n(A) = 50, n(B) = 60, n(AnB) = 20
then n(A’nB’) =
(A) 40

(C) 90

(E) Not attempted

nt, 7
ni-67

B} 20 "kt

(D) 10

The mean of first six multiples of 4 is
(A) 13.5

(B) 14.5

(C) 14

(D) 16

(E) Not attempted

Who is the Chairman of the 16"
Finance Commission ?

(A) Nirmala Sitharaman

(B) Dr. Arvind Panagariya

(C) N. K. Singh

(D) None of the above

(E) Not attempted

cG - CGL24
g, g 1 7 2 sreia e A
- (A) 217 (B) 4 FeT
J(c) 23 foraa (D) 3 A
:ﬂf'(’éa (B) Jratéd
o, Pl § 4 H-T <eded B G
aHR 7
AT TR
(B) TRaIETIER
+(C) TIHETECH
(D) IR # & I3 TEI
(E) 3T

10. IR U 100 @t aTe T A
a2 A i B 3 W@ wg=E B T
n(A) = 50, n(B) = 60, n(AnB) = 20
n(A’nB’) =
(A) 40
(C) 90
(E)

(B) 20
(D) 10

11. 4% Y29 6 TUISI <l ATE 91 & 7

(A) 13.5 y 3 e
(B) 14.5

4€) 14
(D) 16
(E) JAaTHd

12. 169 fom 3w & g AR E 7
ooy (A) Fien Hawwm
mqﬁ i !
E*4E )ETGTY%‘G"FFT%W
(C)va.és.ﬁwz
(D) 3909 o ¥ HI1$ TE
(E) i
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16.
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The inscription which gives details

about the expeditions of
- -4 I
King of Ottaen Kharvela the

(A) Aihole inscription

(B) Allahabad pillar inscription
(C) Hatigumpha cave inscription
(D) Halmidi inscription

(E) Not attempted

Presenting someone else’s idea or
work as one’s own idea or work is
called

(A) Theft
(C) Copy
(E) Not attempted

(B) Copyright
(D) Plagiarism

What is the term used to describe the

significant increase in agricultural
growth ?

(A) White Revolution

(B) Silver Revolution

(C) Green Revolution

(D) Blue Revolution

(E) Not attempted

district of Haryana has

highe_st road density.
(A) Panchkula  (B) Faridabad
(C) Jind (D) Ambala

(E) Not attempted

Which of the following day is
celebrated as National Endangered
Species Day ?

(A) 2 Friday of June o
(B) 3« Friday of May e
(C) 3 Monday of March  [E#4E
(D) 2¢ Monday of June '

(E) Not attempted

13.

15.

16.

17.

'

CG - CGL24

Sl % an e faan T @
_IA) g Jrfiree

(B) 3eTTETETE &W AR «

(C) ERfiH e SferE

(D) g aIfier «

(E) T9aia

et 3tk % fomm @1 i A AT o
RIEADIC R e 5 CAC S | —

it frepra f Feevea ghg 1 0
3 fore foper wreg &1 TN foRaT AT @ 7

(A) *d Shife
(B) T ShITd
ey i@ shifd
(D) et it
(E) 3Tsamiéd

gham % et o waiferes 956

e 2
(B) HIGET]

(A) T ]
() fre Stz RS EIS g

(E) 3Tmtad

Freferftag § & sA-a1 fo7 Usf gaau™
worf feeg 3 w9 T HE S 8 7

(A) ST T g PR

(B) TS T U LhaR

(C) w1 ffe FHE
D) I 1 QU HHAR

(E) JrSania
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If tan 9:J§,thensecﬂ=

2
(A) Nal

2 mahe] 0
(D) None of these

e rﬂ-_ 1

w5
(E) Not attempted

The general solution of cotf + tan@ = 2 is
(A) e=%+(—1)“n8
(B) e:%h(-n“nﬁ
() e=%+(-1]"n4

(D) 0=nn+(-1) 7/

(E) Not attempted

Which of the following Articles of the
Indian Constitution deals with the
Finance Commission ?

(A) Article 280

(B) Article 128

(C) Article 112

(D) Nome of the above

(E) Not attempted

Which of the following is the capital
city of Jharkhand ?

(A) Bhubaneswar

(B) Aizawl

(C) Shillong

(D) Ranchi

(E) Not attempted

CG - CGL24

18. Hﬁtanﬂzsfgx?hsecez
2
(A) Vel
(B) 2
ue) V3

2
(D) ST & 1§ &
(E) TS

19. cotd + tand = 2 %I A & 8
(A) e:%’h(—n”%
(B) e=512—“+(-1)"ﬂ:6
(©) e=%+(-1)“vr4

(D) 9=nn+(—1)“%
".*.% (E) J1gaiféa
EI#46E
20. YR w@iqam w1 fFafafied § & $R-9

o foa TR @ Hefta @ 7

AT 31=ag 280

(B) 37T=55 128

(C) =T 112

(D) 390 ¥ & &S &

(E) TSRt

21. ﬁm%f@aﬁéﬁq-mmgﬁmw
27
(A) Y=
(B) AT
(C) ferem
\AD) T=h
(E) vanfyq

|
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22. To provide relief to the flood victims of

Kedarnath, the operation launched by
the Indian Army in 2013 is known as

(A) Operation Surya Hope
(B) Operation Vijay

(C) Operation Polo

(D) Operation Holy Land
(E) Not attempted

23. identity operator evaluates
True if the variables on either side of
the operator point towards the same
memory location and False otherwise.
(A) in (B) not in
(C) is (D) is not
(E) Not attempted

24. ‘NDMA’ stands for
(A) New Disaster Management Act
(B) National Disaster Managing

Amendment _
\AC) National Disaster Management
Authority
e
(D) Neurological Disorder E‘?@
Management Authority  [E]53=
(E) Not attempted

25. _ is the 1%t excavated site of
‘Hakra Culture’ in Haryana.

(A) Kalibangan
(B) Mitathal
(C) Rakhigarhi
(D) Kunal
(E) Not attempted

CG - CGL24

22. HERATY 3 A1g fifsdl =1 Ted THAH
% foTu vl @ g 2013 © IE R
T IPEE 37 W ¥ S S 8

23, 3gsfedt A Wl H
eI AT @ Afg TR % Gl A 6
feeew 3 Wit wm A 2R 3

3R 3= e |
(A) in

(C) is
(E) STSRITRI

(B) not in
(D) is not

24. ‘NDMA’ I fokgd &9 2
() = feamer Teme e
(B) vl feamet MAfom wisde
ey v feame fsme srenfide
(D) =efhe feaamdt faeme e
(E) SToiEa

25, BTN 1 BT Gyar i

EESIRSRCIEL RS ]
(A) TTEHET
(B) HidrIet
{C) TETEN
AD) U

(E) v

e
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Consider the following statements
and choose the right option given
below.

1. Total cost per unit of output is

called Average cost.

. Total revenue per unit of output
is called Average revenue.

(A)
(B)
(C)

Only the statement 1 is correct
Only the statement 2 is correct

Both the statements 1 and 2 are
incorrect

(D) Both the statements 1 and 2 are

correct

(E) Not attempted

Rohan ranks seventh from the top
and twenty sixth from the bottom in
a class. How many students are there
in the class ?

(A) 31
(B) 32
(C) 33
(D) 34
(E) Not attempted

The iron ore known as black ore

(A) Limonite (B) Hematite

(C) Magnetite (D) Siderite

(E) Not attempted

n
If 3*1,2n = 1728, then % is equal to

(B) 4
(D) 2

(A) 6
(C) 3
(E) Not attempted

CG - CGL24

26. Pt et o femm F 3t A fay
T GE) farehed 1 T |
1. eI 1 o TS el AT
3ffer ST el T 2 |
2. Seie B Sl 3T el T A
3frea ot el Tl @ |
(A) e HYA 1 FE 8
(B) *haeT %Y 2 TE B
(C) 3Nt e 1 3R 2 T &
Eq;r;lil(D) 2Hi e 1 3t 2 7 2
34 (B) ST
27. Ve TH FET F S T e T W 3R
9 A weltad I W R | R H e

omtr .
(A) 31 7464
Fas-
UAB) 32 [y
(C) 33
(D) 34
(E) Irvamfaa
28. WIg 3% N Fen 3=ws it g §
(A) femmmge (B) gHeTEE
qc)/ﬂﬁasz (D) fadte
(E) T5=TEa
29. 4G 3«12 =1728, E fras
TR ?
(A) 6 (B) 4
(€) 3 (D) 2
(E) ST9aTTad
7’ 3”'}1.2' 7
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is the design of a database.

(A) Relational Database Management
System

(B) Database Schema

(C) Control Flow Diagrams
(D) Data Flow Diagrams
(E) Not attempted

If 'the vertical angle of an isosceles
triangle is 70°, each base angle is of

measure "
(A) 50° B) 55° "y’
(C) 60° (D) 65°

(E) Not attempted

Choose the missing term out of
given alternatives for the given alpha

numerical series,
2Z5, 7Y7, 14X9, 23W11, 34V13,?

() 27U24

(B) 45U15
(C) 47U15 1R
(D) 45V14 g?:%

(E) Not attempted

In a certain code, the codes for

sentences given in Column — I are given
in Column — II. Each word has unique
code. Answer the questions based on

CG - CGL24

30. U g o feAmEA Bl

31, R T wzag st @ St i 70°
3, A e SR T AT BT

(A) 50° AB) 55°

(C) 60° (D) 65°

(E) 3T

3. @ T Few! HEETHF JE@e T T

T ferepedt § @ o« G I |

075, 7Y7, 14X9, 23W11, 34V13, ?
(A) 27U24 :

(B) 45U15
L€) 47U15

(D) 45V14

(E) 3T9Tad

@@ﬁ,aﬁm-xﬁﬁqmmﬁ%
e — 117 g 0 31 5
el e R1 T FTER T IE & IN

33.

these. |
Column - I Column - II we™ -1 Few -10
1. keep quite good nice la sadaka 1. keep quite good nice lasadaka
2. good bad are not same na darapame 2. good bad are not same na da ra pame
3. nice days are good da la pale 3. nice days are good dalapale
ka le na da 4. keep same days good ka le na da

4. keep same days good
‘keep’wéﬁﬁ‘m%w% ?

What is the code for ‘keep’ ? o
(A) le (B) ka (A) le LB} ka keep 3
(C) da (D) na {C) da (D) na 4o Ka
(E) Not attempted (E)

9. B
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34. A market consisting of more than one 34, TF 4 Al (i ) fepparati 9 e
(but few) sellers is called as T ISR <l 41 FEd & 7
(A) Isoquant (A) IMTEHTEhe
(B) Monopoly (B) UHIYHI
(C) Oligopoly - (C) SAUTIIHT
(D) None of the above (D) 39 § & s TEl
(E) Not attempted (E) 3ryamfya

35. Choose the odd pair of words. 35. gl o forwm gm ot < R |
(A) Painter : Gallery Ajbr)’ﬁﬁﬁﬂ' : Terdt
(B) Actor : Stage (B) IR : 7=
(C) Mason : Wall e G @ §ER
(D) Farmer : Field (D) frEm : @4
(E) Not attempted (E) TSTHd

36. The number of in a relation is 36. fedigead_ S gen ! Hay
called the Cardinality of the relation. i ST a1 = 21
(A) Attribute | (A) Higsge
(B) Tuple (B) &
(C) Domain . (C) emF -

'AD) Degree (D) et %’iﬁ%

(E) Not attempted (E) 3Ty ’

37. The number of real roots of 37. 3%-77 = 9 & qRlaE Tl T ‘
The sumber |y i 1 e

" .

(A) O (A) O
(B) 2 E57E (B) 2
(C) 1 E’?ﬁ : ©) 1
(D) 4 (D) 4
(E) Not attempted (E) ASTiaa

B -10

(¥ Scanned with OKEN Scanner
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38. Four of the following three are alike in

peu'ticulali‘ pattern and hence form a
group. Find the odd man out.

(A) square
rhombus
triangle

rectangle

Not attempted

A train of 320 meters length, is running
at a speed of 72 km/h. How much time
will it take to cross a pole ?

39.

(A) 20 seconds
(B) 16 seconds
(C) 12 seconds
(D) 24 seconds
(E) Not attempted

If PAINT is coded as 74128 and
EXCEL is coded as 93596, then how
would you encode ACCEPT ?

(A) 455975
(B) 455976
(C) 455977
(D) 455978
(E) Not attempted

40.

To which country did the 14 century
traveller Ibn Battuta belong ? .
(A) Arab %
(B) Africa [E]5EH
(C) China

(D) Mangolia

41.

(E) Not attempted

-11-

CG - CGL24
as. Freffag =mi ¥ § i o @ afis 4
wh A B 3 3T TR UF HYE A 2
gaen firm sifeu)
(A) =
(B) TGS
s le) TS

39. 320 Hiet wh v el 72 R /ae i
R § =l @ R | TH @ i IR HH H 3

T U S ? 324 f6

(A) 20 Fhs ™
AB) 16 HHS

(C) 12 ¥

(D) 24 T

(B) 3T

40. af% PAINT I 74128 3T EXCEL i
93596 3 &7 1 Hifed fHaT T &, q 3
ACCEPT % 4 wifed %l 7
(A) 455975
(B) 455976
(C) 455977

_P) 455978
(E) JSRNHA
14 o T % A 351 Sqa fHE A Y ?
(A) 3RS

B 3TShIeRT
(C) ==
(D) T
(E) 3T9mrEd

41.
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'i"""@' CG - CcGL24
5 o el A 2 7
42. Where is the Rourkela Steel Plant 42. T3Then et <Are Hal
located ? (A) BTG
(A) Chhattisgarh ,LB() i
(B) Odisha
(C) Madhya Pradesh (€
(D) Uttar Pradesh (D) I
(E) Not attempted (E) T5rmféd
43. Which of the following Gas is 43, Trefofed i & S-d g o 19 7w
responsible for Bhopal Gas Tragedy ? % foru e 2 7
(A) Methyl Alcohol (A) Taumzer repiad
(B) Helium %’E,E! (B) wiferzm
(C) Neon 'm'%% (C) fr=m
(D) Methyl Isocyanate D) Toemse smsamETse
(E) Not attempted (E) 3w
44. Inaclass of 42 students Nutan’s rank | 44. 42 faenfiai i v wean § 307 &1 ==
is 22 from bottom. What is his rank :ﬂ%'@f225h%| Sﬂﬁﬁm@mw% ?
from top ? (A) 24
(A) 24 = 42
B) 22 Top goc s
B (B) 22 | —
i’i,% (C) 23 (C) 23 i
E/}" 2 ’
(D) 21 =) 21
(E) Not attempted (E) A9=fad

45. Which of the following is a low grade 45. frafefea o | HH-HT = gofy =1 qa

brown coal ? HIAT R 7

(A) Bituminous INREMEEE]

(B) Lignite B fermmse

(C) Anthracite (C) wemge

(D) Hematite (D) EHeTzE

(E) Not attempted (E) 3TSaTa
B -12-
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In a certain code, Kit Mit Fit’ means

y ‘Zit Rit Kit’ means
L.HPOHOUS Is Dangerous’ and ‘Sit Fit
Ritt means Dangerous

‘1 Am Laborious’,

: ’ _ Extremely
Painful’ then in that language what is
code for ‘Is’ ?

(A) Kit
(B) Zit
() Rit e
(D) Data inadequate E}g

(E) Not attempted

If o and P are the roots of X2 — ax + b? =0,
then o? + B?is equal to

(A) a* - 2b?

(B) 2a? — b?

(C) a2 — b?

(D) a? + b?

(E) Not attempted

The population of a city decreased
from 25,000 to 24,500. Find the
percentage decrease.

(A) 2.5%

(B) 5%

(C) 2%

(D) 3%

(E) Not attempted

Which of the following poet wrote the
book ‘Akbar Nama’ ?

(A) Noor Jahan

(B) Jahangir

(C) Abul Fazl

(D) Mehrunnisa

(E) Not attempted

CG - CGL24

46. UH (a2 H, Kit Mit Fit’ 1 74
I Am Laborious’, 2, ‘Zit Rit Kit' &1 7%
K ~~Taborious Is Daﬁgerous’ 8 3N ‘Sit Fit
Rit’ =l 3o ‘Dangerous Extremely
Painful’ &, @ 38 w91 & s’ ferq re
TR 7
(A) Kit

(B) Zit

47. AR o IP, x2-ax+b?=0 H A & dl
o2 + B I S 7
(A) a?-2b?
(B) 2a? - b?
(C) a?-b?
(D) a? + b?
(E)

48. TFH Y& H SHEE 25,000 H HIH
24,500 31 T | SfeEw HH) I I |
(A) 2.5% SZ X
(B) 5% g
A€) 2%
(D) 3%
(E) 3Trfed

49, Tyl § @ o ®fa 4 SR T
qeeh fordl ot 7
(A) TR
4@ (B) eI
Op PSR
(D) HEwf=dr
(E) FAwmEd

-13-
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Choose the pair in which the words
bear the same relationship to each

other as the words of the given pair
bear.

Energy : Joule

(A) Axe : Grind

(B) Ammeter : Current
(C) Power : Ampere
(D) Resistance : Ohm

(E) Not attempted

The Slide Rule was invented by

(A) French Philosopher

(B) William Oughtred y'@
(C) Napier Bone’s E.;é%
(D) Gottfried Leibniz

(E) Not attempted

Lakshman went 15 km to the West
from his house, then turned left and
walked 20 km. He then turned East
and walked 25 km and finally turning
left covered 20 km. How far is he now
from his house ?

(A) 15 km

(B) 20 km

(C) 25 km

(D) 10 km

(E) Not attempted

The mixture of
water gas.

(A) CO and H,0
(C) CO,and H,
(E) Not attempted

_ is called

(B) CO, and H,0
(D) CO and H,

cG - CGL24
50. 34 I = = Hifso famd el U GH
} g1 & gay waa # S 6 fow T AW
F o 1@ B |
mﬁ:q\a
(A) Fewret : e
(B) et : g
(C) W : wrdiar
\_{D] gfedia : 3y
(E) st
51. WS EAH AfIHR &1
fema T ey
(A) rETE it
(B) faferam arigs
—«C) AR 9|
(D) TeshiE wiafs
(E) TSrmféa
52. @A HAW W F 15 fpdt afim Fi 3w
1, 6 =Y qg1 3R 20 fR =@ | TR
T8 9@ 1 AR g1 3R 25 fEft =en 3k
I | =1¢ gyt 20 Tt fit gt 7@ hi |
e 98 A9 W fHafi g R ¢
(A) 15 Tt .
(B) 20 ferrft E—yo
(C) 25 feprft s
L®) 10 et
(E) 37sramféa
53. o ot 9«1 M w2
(A) CO3H,0 (B CO, 3 H, 0
ré%%(q CO, 3 H, By CO 3R 1,

L
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54. In which of the following State
‘Kanha National Park’ is situated ?
(A) Uttar Pradesh
(B) Madhya Pradesh
(C) Bihar
(D) Kerala
(E) Not attempted

55. How many members of the Rajya Sabha
can be nominated by the President of
India ?

(A) 15 members
(B) 12 members
(C) 26 members
(D) 2 members

[EI? EEI
(E) Not attempted EI}?:_._

56. The point on the supply curve at
which a firm earns normal profit is

called as

(A) Shutdown point
(B) Break even point
(C) Transition point
(D) None,of the above
(E) Not attempted

57. In order to facilitate the use of Indian
languages on computers, a common
standard for coding Indian scripts
called was developed in

India during mid 1980s.
(A) ISCII
_B) INSCII
(C) INCIT
(D) ANSI
(E) Not attempted
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54, frafafaa o @ fg o= 0 F2 e
I g 8 7
(A) IR
H] T
(c) faEm
(D) T
(E) ITwamfea

55. WA % Tt g TsTEHT o e HEE
=1 T fohan <1 T 2 7
(A) 15 TeE
AB) 12 TeH
(C) 26 TEH
(D) 2 HeH
(E) T5aTTEd

56. IR @ W =7 fig e W T wm
o A e 2, 39 FT Fad @ 7

M) wizere fag

(B) 5 ¥ faig

(C) whum ferg

(D) 39t & i3 TE

(E) 79T

R T WA T3 < ITIF <l Ffere

% fofu, W@ ® 1980 % W IS H A

ferft = fo wes T W it

faefm A A =1 Srar )

(A) STETEEITEATE
e AT TS TS
c:i T (C) HTSTAHIATEATS

" (D) TUATEITE

(E) 3ot

57.
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s CG - CGL24
58. Accountant General (Accounts and 58, TREEHN (1l vd gahartl), AT foa
Entitlements), Haryana functions A 2
under the ef =l e @ 7
(A) Department of Expenditure (A) WA TR 1 AT ferwm
Government of India i —
(B) Reserve Bank of India (B) R 15 b -
(C) Comptroller and Auditor General ,f@ qrd % e UEI Wﬁ%
of India : :
(D) None of the above (D) A 8 I T
(E) Not attempted (E) ITganféd
59. In glycolysis process, glucose undergoes | 59. TSI SfhaT q, T@a WF%?F
partial oxidation to form T+ ] S o ferg 3tk
molecules of pyruvic acid. Irafd 2 2l
(A) one (.B) three (A) Th (B) d
(C) two (D) four EFZE L) & (D) &R
(E) Not attempted =] 5k (E) Tv=mféa
60. To which quadrant does the point 60. fag (1, -2) Fobm =igurter & Haiferd 2 7
(1, —2) belong ? (A) 1 (B) 11 /}""
(A) T (B) II
(C) I D) IV i, 1L 4B IV
(E) Not attempted (E) Tv=mtEa
61. In third generation, keyboards and 61. ol Mgt o 9= w1 3 fieamse & =
were used instead of punched W FHI-a7E 3R 1 7= foRa
cards and printouts. FTAT 4T
(A) Scanner (A) THTT
(B) Monitors (B) HitTed
«(C) Memory card LAC) IO e
(D) Modem —clRIe
(E) Not attempted % (E) 3rsrafd
62. What is the approximate playing time | 62. WId % TS % QU0 TEHT Y A o
of the full version of the National Wiy
Anthem of India ? ) HHY R
(A) 40 seconds (B) 1 minute (A) 40 Fehe (B) 1 fie
(C) 39 seconds (D) 52 seconds (C) 39 &g \{B] 52 Hhg
(E) Not attempted (E) T
:16-
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64.

65.
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In the context of macroeconomics
Phillips Curve is a relationship
between the rate of

(A) Demand and Supply
(B) Inflation and Unemployment

(C) Unemployment and Supply
(D) None of the above

(E) Not attempted

The Hanging Garden of Babylonia’
was built by

(A) Darius

(B) Hammurabi

(C) Alexander

(D) Nebuchadnezzar
(E) Not attempted

What is the shape of warning sign
board ?

(A) Square

(B) Circular

(C) Triangular %
(D) Rectangular CES

(E) Not attempted

When do we celebrate ‘World Water

Day’ ?
(A) January 22 (B) February 22
(C) March 22 (D) April 22

(E) Not attempted

Which Article provides for the Office
of the Election Commission of India ?

(A) Article 326 (B) Article 368
(C) Article 324 (D) Article 328
(E) Not attempted

~ 57—
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63. twEsritEa & e #, frfaer #d
6 ot F " F HAY 2 |
(B) grehifa 3 st
(C) STl 3R FTfd
(D) 3T § | I3 TE

64. ‘St 1 & e fRE g SR

Fl Wﬁiﬁgﬁw
ﬁ%(mmﬁﬁ

65. =IdTEHT Hhd A I AHR F & 7
(A) SRR
LAB) FETHI
(c) Freprofia
(D) HTEATHR

(E) Fw=nfad

66. 7N ‘fama 9ot feaw &9 AAE 7

(A) 22 ST (B) 22 ®EL

ey 22 A (D) 22 37
(E) Avanfd

67. T I=de H YRA & IA1E M 5
FRITEE H TEHUH B ?

LIAT 3TIe86 326  (B) 31T=9¢ 368 «
(C) IT=E 324 (D) Ig=e 328 *
(E) 3ranfaa

B
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Pointing to a man in photograph, a
man said to a woman, ‘His mother is
the only daughter of your father’. How
is the woman related to the man in the
photograph ?

(A) Sister
(C) Wife
(E) Not attempted

(B) Mother
(D) Daughter

Which of the following is based on
fifth generation computing device ?

(A) Vacuum tubes

(B) Integrated Circuit (IC)
(C) Transistors

(D) Artificial Intelligence (Al
(E) Not attempted

The change in the optimal quantity
of a good when the purchasing power
changes consequent upon a change in

the price of the good is called
(A) Laws of Demand E%ﬁl
B

(B) Income Effect

(C) Long Run

(D) None of the above
(E) Not attempted

What term was used by the Marathas
to refer to the 25% of land revenue
claimed by the Zamindar in the
Deccan ?

(A) Jizya

(B) Zarib

(C) Sardeshmukhi
(D) Chauth

(E) Not attempted

O L

b

68. i it v s 1 T FA T, OF
st 3 v wfgen @ e, < I A T

A
CG - CGL24

i o) gl 461 2 | e A

et & 1 gay A7 7 ‘é

(A) & (B) 1>

(C) 7= (D)aa[?ﬂ

(E) 3rsfed f
69. 3 § F—a qi=dl Wil H FAL

feamsg w snuTfd 2 7

(A) 9FE S[TE

I (B)sﬁﬂ%gqﬁ»—e(am“éﬁ)’
mg (C ¥
D) ERRTer Seferg (T3 ) ’
(E) Jrvnfaa

70. & ot @ 1 Hind § 9fEdT 2H 5

YRy 1 YifE § 9REdd B 3, af
o] I 35eqd AT 8 giEdd @i #1 Had
g7 el

(A) AT T f=m
\_{B] 3™ T T9E

(C) & sty

(D) 39U H | HIE T2

(E) TS

TS G g | “RfieR g g fhe s

a1t fty TSR 6 25% 1 Tefla w0

< fofu T w1eg 1 swmTer o T o 7 g
(A) i

(B) wi{i®

(C) TevmwEh
\p) sty

(E) 3Tamfya

71.
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The Coriolis force is caused by the
(A) Rotation of the earth

(B) Revolution of the earth

(C) Inclination of the earth

(D) Both (A) and (B)

(E) Not attempted

Neelu bought 150 dozens of pencils at
¥ 20 a dozen. He sold them at ¥ 2.5 per
pencil. Find the profit or loss percent.

(A) 40% (B) 45%
(C) 35% (D) S50%
(E) Not attempted

In Python, a comment starts with
(A) # (B) ##

(C) % (D) @

(E) Not attempted

Choose the missing term out of given
alternatives for the series.

4, 8, 16, 32, 64, ?, 256

(A) 128

(B) 98

(C) 86

(D) 106

(E) Not attempted

Which image is on the back of
Rs. 20 notes of Indian currency note

(New) Series ?
(A) Ellora Caves

(B) Stone chariot Hampi %5
(C) Rani Ki Vav EFE

(D) None of the above
(E) Not attempted

CG - CGL24

72. Ffanfem e s Hro 2 2 7
(A) gt 1
UB) gt =1 afhE
(C) T 1 FFE
(D) (A) 3 (B) 2 .
I ¥
(E) EZ
73. fgazooMEH A @ITIS0TH /S
et @O | 38 3= T 2.5 uf HfEE 12
aﬁﬁnmmmﬁmwm

ol P

(A) 40% (B) 45% Bes

(C) 35% (D) 50% i J/El

(E) St 22 LA
74, UEEA T, THfOER W IE

gt 2l

(A) # (B) ##

ﬁgg (©) % D) @
EHE (£) FwETEd
75. @ 4, 8, 16, 32, 64, ?, 256 @ foTT
fou o e # ¥ @ 98 I |
4 128

(B) 98
(C) 86
(D) 106
(E) 3=

76. WA g1 (HEH) (T8) Hil 6 20 ¥ &
el % e FH-H sl g ¢
&) T A
(B) e <1 T gHT ~
(C) TH <l a/@ «
(D) ST H F HIS T&
(E) Fw=faa
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India’s first Aero Sports Centre was
opened in which place of Haryana ?

(A) Manesar
(B) Narwana
(C) Loharu

(D) Narnaul

(E) Not attempted

What is the value of

(a+b)® + (a - b)® + ba(a? - b?) ?
(A) 6a’ (B) 8a®
(C) 10a® (D) 12a°

(E) Not attempted

What was the Sex ratio of India
according to 2011 Census ?

aNewdJobs.Com"
CG - CGL24
fopm v ot wfua feRam T 7
(A) AT
(B) @I
_IE) ANEE
(D) T
(E) Irsanfad

(a+b)? + (a — b)? + 6a(a® — b?) HT AH
27

78.

(A) 6a° (B) 8a’

(C) 10a® (D) 12a®

(E) 79

2011 I FUET &% FFHR IRT H

formeaTa @ o ?

—-:;;E

(A) 940 %?ﬁ’% (A) 940
44

(B) 943 LBT 943

(C) 950 (C) 950

(D) 972 (D) 972

(E) Not attempted (E) 3Tw=ma

This city of Haryana is called as nano

city

(A) Jhajjar 240
y bl |

(C) Gurugram

(D) Panchkula

(E) Not attempted

0. ATV 1 T8 T A =T FEerma 3
(A) TSR
(B) detae
(C) Teu™
AD) Teen
(E) 375
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English Language

Direction Q. No. 81 and 82 : Fill in the

blanks by choosing the right option from
the four alternatives given,

81. The picture is

the wall.
(A) in (B) under
€] on (D) at
(E) Not attempted
82. There is a bed my room.
A in (B) on
(C) under (D) over

(E) Not attempted

83. Choose the right option to form a
meaningful sentence.
in / we / of / science / the age / live

(A) We in the age of science live.
(B) We live the age of science in.
(C) The age of science in we live.

) We live in the age of science.
(E) Not attempted

84. Choose the word which is nearest in
meaning (synonym) to the given word.

Foe = [E]
L&) Enemy
(B) Foolishness ELE

<) Friend
(D) Fearless
(E) Not attempted

Choose the right option to fill in
the blank with appropriate active or
passive verb forms.
Sam the car.
(A) is repaired x
(B) has been repaired x
\ ,(Zf' repaired
(D) was being repaired
(E) Not attempted

86. Identify the error and choose the
right option from the four alternatives
given below :

I am here for teach you English.

(A) I am here too teach you English.

(B) I am here at teach you English.
C) I am here to teach you English.

(D) T am here in teach you English.

(E) Not attempted

87. Choose the opposite word (antonym)
to the given word.

%@A Handsome
pepks (A) Pretty
B ©) ugly
(E) Not attempted

(B) Cute
(D) Attractive

88. Choose the correct spelling of the given
word.

Vacabulary

A& Vocabulary (B) Vecabulary
(Ck Vocabuelary (D) Vacabulery
(E) Not attempted
@. Choose the correct meaning of the
following idioms and expressions.
A man of letters.
(A) a hidden enemy x
L4B) a scholar
(C) a useless person 4
(D) a person in uncomfortable situation
(E) Not attempted

90. Choose the correct indirect form of

the given sentence.

She said “I have done my work”.

(A) She said that I had done my work.

(B) She said that she has done my
work.

(C) She said that I had done her work.

(D) She said that she had done her
work.
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(E) Not attempted
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far=dt

91. a}mm%mwﬁ,a@mm

W%Wﬁa}um%'ﬁ

CG—CGL2
96. i & HH = AR | I F iy
S aehueh fohanatt | grar 2 |
EI’EJ;E (A) V A Bt
WB) el i
(C) wifrsaahTeli <
(D) 378 | 15 T8l
(E) wanfed
97. <Ay qEH veg B, IHHI agHT 3
(A) 3T (B) 37T
Ltef @it (D) 3
(E) Jrvanfaa
98. TEWETHH HIAH % fhad U2 B B ¢
(a) 3 B8] &=
(C) IR (D) |
(E) T5mfera
2. ‘WHETAfETmIE 3
(A) T (B) |%A
(C) T Dy w=hr
(E) 3Tvamfya
100. @,%m,%m,ﬁ%waﬁwﬁ
Ty FEH 5 eia |
AT o (B) =H
(C) St (D) HEyg
(E) 3T9mfag

TS HEd # |
(A SfFrE=s (B) faTE
5, ST (D) T & ¢ 7
(E) 3rwfim

92 mm%mﬁmiﬁqmm
R e
Ly es (B) &
© FEE (D) s
(E) 3Asamiyg

93. I W I W 3@ 97 a9
HEATH T IR § |
(A) FEre + (B) e
(C) 99999 . (D) WA«
(E) 3rrnfeq

94. “TE U W3 A R, SHH W= W
= 2
() it~ (B) T
(C) T (D) wETE ¢l
(E) A5=myq

9. ‘T A, mTM W ;A
IS FEd # |
(A) B3t \MW&/
() =t (©) Te® e
(E) Avartaq %{

B
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